

## Welcome to California Airways!

#### **More About California Airways**

California Airways is the San Francisco Bay Area's oldest flight school and flying club. Over the past 68 years, California Airways taught thousands of pilots how to fly. Offering affordable flight training and aircraft rental for pilots of all experience levels, California Airways offers training from student pilot through ATP ratings. The Airline Pilot Programs take a student from zero flight time through the commercial single and multi-engine certificates, plus all three flight instructor ratings.

California Airways is an FAA-approved Part 141 flight school. California Airways offers FAA-approved flight simulators that can significantly reduce the cost of flight training.

For renter pilots, a diverse fleet of well-maintained aircraft: C-152, C-172, C-182 and Piper Arrow are available for use.

Unlike most flying clubs, California Airways does not charge an initiation fee, which can be as high as \$300 for some clubs. California Airways does not charge any monthly dues.

California Airways has a multi-engine plane that can be used to obtain your ME and MEI ratings.

To learn more, call 510-887-7686, click the contact link above, or stop by the office between 9 am and 5 pm, seven days a week.

California Airways is located at 19990 Skywest Dr, Hayward, CA 94541.

### **ATTACHED IN THE BACK:**

- Club Rules and Regulations
- What we need from you for the next time you come in
  - Aircraft Fleet and Pricing
  - Aircraft Weight and Balance
  - Airport Diagram of KHWD

# **Club Resources Page**

Scan the QR Code for the Resource Page



## **Club Fees**

Cancellation < 24 Hours (Not weather or maintenance)	1 hour of flight time		
Leaving the Parking Brake on	\$50 + damages		
Aircraft not properly chained and chocked	\$25		
Master left on	\$400 first occurrence \$1000 second occurrence Third occurrence - termination of membership		
Trash/windshield not clean	\$25		
Oil trash (used paper towel, container, funnels) left in plane	\$100		
Keys returned late	\$20 per 15 minute delay		
Keys returned improperly/left in aircraft	\$25		
Control lock not installed	\$100 + damages		
Aircraft not fueled after flight	\$80		

## What we need from you next time you come in

#### For initial enrollment

#### • New Pilot Application

- o If you haven't already filled it out from your visit.
- You can obtain a copy online
  - http://www.caliairways.com/CalAir/index.php/online-documents#calair-ne
     w-pilot-application

#### Passport

o To determine if you are U.S. Citizen.

#### • TSA Approval

- o If you are not a U.S. Citizen and want to train with us.
- You can not begin flying/training until you are approved.
- Link to TSA
  - https://fts.tsa.dhs.gov/home/dod

#### • If you don't have a Passport but are a U.S. Citizen

- A copy of your State ID/Driver's License.
- And a copy of your Birth Certificate.

### For Soloing and/or Renting

#### • Everything mentioned above

#### Medical

- A signed, at minimum, third class medical from an approved AME (Aviation Medical Examiner)
- o Basic Med
  - Show required information

#### Insurance

- o A copy of your current insurance is needed to fly with us.
- A minimum of \$50K for aircraft physical damage.



(510) 887-7686 | california-airways.com

## Rates effective 1/24 – Instructors set own rates

Tail	Aircraft	Equipment	Price /
			hour
N66970	C152	G430W - G5 - ADSB - IFR	\$140
N733PV	C172N	G430W - G5 - ADSB - IFR	\$175
N172CA	C172N	G430W – ADSB – IFR	\$175
N52275	C172P	G430W - G5 - ADSB - IFR	\$175
N64087	C172P	G750W – G5 – ADSB – IFR	\$175
N562AC	C172SP	G175W – ADSB – IFR	\$175
N91934	C172R	G1000 WAAS	\$185
N75278	PA-28R-200	G650 – G5 – IFR	\$190
N2849P	PA34-200T	G530W – KFC 200 AP – IFR	\$440



## (510) 887-7686 | california-airways.com

### **Updated June 2023**

### **REFERENCE ONLY**

### **ALWAYS** refer to your aircraft POH for actual W&B numbers

Tail	Aircraft	B.E.W.	Arm	Moment
N66970	C152	1,176.27	30.00	36,299.51
N733PV	C172N	1,456.90	39.95	58,203.16
N172CA	C172N	1,475.76	39.96	58,971.37
N52275	C172P	1,472.68	39.26	57,824.16
N64087	C172P	1,475.42	39.28	57,954.50
N562AC	C172SP	1,703.60	41.04	69,909.10
N91934	C172R	1,695.00	41.36	70,114.00
N75278	PA-28R-200	1,657.36	85.56	141,808.54
N2849P	PA34-200T	3,068.70	88.66	272,070.94

